i
UNLIMITED

#5771 ~KBBS UNLIMITED/IRA—ILY AT

INSTALLATION GUIDE BBS UNLIMITED WHEEL SYSTEM

WWW.BBS.COM



—=r—j

UNLIMITED

FREDEE

BET DRI IRA—ILAR— — N EEETICE
BLTWAMMEZLTLIZE N,
EHlAYYFUIHA RICEEH SN TWRWNMEE IR,
BRGNS EPIE CIIEToT<IES 0,

2|

okk

BERAER
FICEIBROAERE TR TSN TOWERA,
SERENREREEIF.

KW AUTOMOTIVE JAPANE THEAE< L0

%

i

>

ATTENTION! RANGE OF USE

Before installation please check if the wheel
spacers are approved for the intended appli-
cation. If the vehicle is not listed in the parts
approval the installation must be done by an
expert. The individual approval must be done by
a state-approved expert in accordance to §21in
connection with §19.2 of the road traffic licensing
authority (StVZO).

PARTS APPROVAL
No parts approvals are attached to the box.
Certificates can be downloaded on our website.

KW AUTOMOTIVE JAPAN
Phone: 075-771-7351
Mail: info@kwautomotive.jp

BBS UNLIMITED | 2

1L IRA—=ILZNT,
BHEIEA—H—DIERE IR > TRA—)LZZED L
big—o

—r—

UNLIMITED

1. REMOVE WHEEL
Remove the wheel as described by vehicle manu-
facturer.

3| BBS UNLIMITED



BBS UNLIMITED | 4

2. IRA—ILI\TZ17BRT %o
METHNIE RA—ILINTZAF—ILT SV TEN
WIZIRBRLTIZE W,

2. CLEAN WHEEL HUB
Clean the wheel hub carefully with a steel brush
if necessary.

3. EEERARED VY IV ERETD
BESAREOEY IV I R/NTTFTTI—ICE
LIAHE S YUV T IBNT P T5—DORE
ANCEUVIABHE T RA — LIRS, £y VT
ZIDONT BN HHIGE L EERES ZHER
TERICHTHLWEY YUV EERTZDEEHR
LET

3. ASSEMPLE VEHICLE-SPECIFIC
CENTERING RINGS

Put the vehicle-specific centering ring into the

hub adapter. The centering ring is put into the

hub adapter on the side with a bevel. If the cen-

tering ring has to be removed when changing the

wheels, we recommend to use new centering rings

in order to ensure a proper fitment.

—r—

UNLIMITED

4. I EZEZRLTLIEEZW

INT T TH—=DIRA =)L\ TCEOH R T 1y b
LTV TRILE DI =V A IELL 7y b LTV
BN EHERLTIEE W,

4. CHECK CONTACT SURFACE

Check if the hub adapter fits on the wheel hub
without any play and make sure that the bolt pat-
tern fits properly.

ER:

27y 1 ~ 4 (£.BBS Unlimited 27 LA
DINRTDA VAN —ILFA TR CES A7k
[CBR>TWET,

INFO:
Step 1to 4 are the same for all installation
types of the BBS Unlimited system.

5| BBS UNLIMITED



—=r—j

UNLIMITED

RA—ILIRILNTEET S
EERTRANOR:EN)

5. IN(—IL75 75— DI

MUY LY FERLT B DRA—ILIRIL N TR
A=INTFE T —EMRACED T TLIEE W B
BEXA—N—DELH LU THIEEDNLY THED T F
LTEE W,

BBS UNLIMITED | 6

ASSEMBLY FOR CARS
WITH WHEEL BOLTS

5. MOUNT HUB ADAPTER

Mount the hub adapter with attached wheel
bolts using a torque wrench. Torque to spec as
described by the vehicle manufacturer.

25y RV WNTNWDS
AT TRANDYEE )

—r—

UNLIMITED

ASSEMBLY FOR CARS
WITH WHEEL STUDS

C =
ERC

BHENSDRYY RNILEDIND 75 5 —h5
ZEHTWSEHAEIL BBS Unlimited R—X7R
A—=)LDEDMIINTIY TV ZADEHTNSH
ESDEMERULTES N,

ATTENTION:

If the original threaded studs protrude
through the hub adapter, please check if
it fits into the recessed holes of the BBS
Unlimited Base Wheel.

5. \7 7575 —DE

ML LY F=FERUTCBINFY NT/INT 75 75—
ERDMITET BEEXA—T—DELH LU TWIIETE
DMLY TRED T L TIZS VN,

5.MOUNT HUB ADAPTER

Mount hub adapter with the added nuts using a
torque wrench. Torque to spec as described by
the vehicle manufacturer.

7 | BBS UNLIMITED



—r—
UNLIMITED

: ER

KNOVRIYI a3V \OEBERFT Z7H./\
D75 759 —%MR)Lhorry N CTEET BERIE
TYNTL—F DI TLIES W\ T 75 T5—
DED R FITIF SE 1>/ MY ZFERL
NAY Q@ =AY

ATTENTION:

Engage the foot brake while mounting the
hub adapter in order to relieve the stress
on the transmission. Never use an impact
gun for mounting the hub adapters!

—r—

UNLIMITED

6. R—ARA—ILicEV IV I %EE

A=)/ FA VP E/RF =% BBS Unlimited R—
ARA—=I DT —RICRA—IL eI T %D
1Y R I TLIES W IR — LR £ 5 v
ZIDONTIEEIE EEREGEHERT RIS FHU
WUV T ERT I EEHERUET,

BBS UNLIMITED | 8

6. INSTALL CENTERING RING IN THE
BASE WHEEL

Only fit the wheel centering ring in the center
hole of the BBS Unlimited base wheel after
balancing the wheel/tire.

If the centering ring has to be removed when
changing the wheels, we recommend to use
new centering rings in order to ensure a proper
fitment. If the centering ring remains in the wheel

center, it can be used several times.

R

INA—)V/FATDINT VA= BB RIIC, MaxTC
EDNROIA =) FI T I T (R
k6 ZZR)EEELLRVNTEIEININTY
2o FV T ENAUIDIREE TR T 1ToTL
2SN,

ATTENTION:

The purple/red wheel centering ring (see
point 6) must never be clicked in before
the wheel/tire is balanced/matched!

7. IR — LB

BBS Unlimited /- —/L7RJL M EERLTHRA—IL
RO I TLIEEW.ZD A FBORD 745
T = ERLTLIEE W,

SEREEIWBBS  Unlimited  7R-r—JLiRJL &
(& AFHRREEICE D . BBS Unlimited 7/RA—JLD
HERHEDETHERATEET,

7.MOUNT WHEEL

Mount the wheel with the BBS Unlimited wheel
bolts. To do so, please use the attached mounting
gear.

Please note: Thanks to the specific construction,

the BBS Unlimited wheel bolts can only be used
in combination with BBS Unlimited wheels.

9 | BBS UNLIMITED



—=r—j

UNLIMITED

®

R
2F—=)LEFE VRV DIRA —)L D S
~LZiE 170 Nm T3,

A )T M NEHESHAER UIRWTLIES W,

ATTENTION:
The tightening torque of the wheel for
steel and titanium screws is: 1770 Nm.

Never use an impact gun!

RA—ILIRILNERA—ILFY NORER
INRDZ Ly R

M12 x 1.25 Dig<&s 80 ¥—
M12 x 1.50 D7g<&d 65—
M12 x 1.75 Dig<&d 65 F—
M14 x 1.25 »7ad&d 9.05—>
M14 x 1.50 Dig<&d 75 §—>
M15 x 1.25 »73a<&H 10.0 ¥ —>
172" »73<&H 8.0 ¥—>

—MREBT IV
TRA—)VEUS /=Y DA TV S IR Bl
DEEMICHEES5ZBPIREELNHDET,
TRA—)UIRIL N ET 7R =)Ly M R RS
[FRIFTH>THARIOEND N HTIHEIFET
BT RENHDET,

BBS UNLIMITED | 10

MINIMUM THREAD ENGAGEMENT
FOR WHEEL BOLTS AND WHEEL NUTS
M12 x1.25 at least 8.0 turns

M12 x1.50 at least 6.5 turns

M12 x1.75 at least 6.5 turns

M14 x1.25 at least 9.0 turns

M14 x1.50 at least 7.5 turns

M15 x1.25 at least 10.0 turns

1/2" atleast 8.0 turns

General information:
Loosely wheel mounting material can affect
the vehicle safety.
Wheel bolts or wheel nuts should be replaced
aftermultiple mountings, eventheyarein good
condition.

®

i3

INT FE T —ERA— IO THMHILTS
& MUY LY FTssbizté BEMILNE#ESD
TN TS DI EE R LE T, FYVRIL
NMERDZEIE BEEDDILENHDEE A,

TIP:

At initial assembly of hub adapter and
wheel, itisrecommended to loose the bolts
and tighten them for a second time after
they have initially been tightened with
a torque wrench. With titanium screws,
loosening again is not necessary.

11| BBS UNLIMITED



e
UNLIMITED

@

o I\TTHTH—ERA—ILE#HTHM
T CBEE ML LY FTREDIR B
ERILNZREH T ML TREDD &%
R UE T, FYURILNMERDIGE I,
BEEODIZDENHDEE A,

o AV NAVSHESHTFER LRWTL
720\,

B/IN—YDEEBICIF. EBEDRRIC.E
MDTIRENEFERT I3 HRELE
Thl

IRA—)LRIL R E@RA—IL Y ~
(& RIFIRIREETH > TH, RIEIDEL
DS FRICIATDRENDD T,

O NLY

o I\DF7E 75 —FR)LhorFv h: BE)
BEA—H—DEENLI TEROHFTL
EEn

RA—)LIRLS (RF—)L/F4>) :170Nm

At initial assembly of hub adapter and
wheel, it is recommended to loose the
bolts and tighten them for a second time
after they have initially been tightened
with a torque wrench. With titanium
screws, loosening again is not necessary.

Never use an impact gun.

It is not recommended to use additional
lubricants when installing mounting
material and connecting elements!

Wheel bolts or wheel nuts should be
replaced after multiple mountings, even
they are in good condition.

Tightening torque

Hub adapter connection hardware:
Description of the vehicle manufacturer

Wheel screws (steel/titanium): 1770 Nm

Article no: 69010290 062023

KW AUTOMOTIVE JAPAN Phone: 075-771-7351
BARESN R AREE Mail:  info@kwautomotive,jp
BT AT 3% Web:  www.bbs.com

BBSIZFKW AUTOMOTIVE
TI—TDRETY,



